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Name: __________________________________



1
What is the image of the point [image: image1.png]


 under the translation [image: image2.png]


?

	1)
	[image: image3.png]




	2)
	[image: image4.png]




	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
When the transformation [image: image7.png]


 is performed on point A, its image is point [image: image8.png]


.  What are the coordinates of A?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






3
A translation moves [image: image13.png]


 to [image: image14.png]P(6,1)



.  What are the coordinates of the image of point [image: image15.png]


 under the same translation?

	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	[image: image18.png]




	4)
	[image: image19.png]






4
The image of point [image: image20.png]


 under translation T is [image: image21.png]


.  What is the image of point [image: image22.png]


 under the same translation?

	1)
	[image: image23.png]




	2)
	[image: image24.png]




	3)
	[image: image25.png]




	4)
	[image: image26.png]






5
The image of the origin under a certain translation is the point [image: image27.png]


.  The image of point [image: image28.png]


 under the same translation is the point

	1)
	[image: image29.png]




	2)
	[image: image30.png]




	3)
	[image: image31.png]




	4)
	[image: image32.png]






6
Triangle ABC has vertices [image: image33.png]


, [image: image34.png]


, and [image: image35.png]


.  Under a translation, [image: image36.png]


, the image point of A, is located at [image: image37.png]


.  Under this same translation, point [image: image38.png]


 is located at

	1)
	[image: image39.png]




	2)
	[image: image40.png]




	3)
	[image: image41.png]




	4)
	[image: image42.png]






7
The image of [image: image43.png]MABC



 under a translation is [image: image44.png]


.  Under this translation, [image: image45.png]


 maps onto [image: image46.png]B'(1,-1)



.  Using this translation, the coordinates of image [image: image47.png]


 are [image: image48.png]


.  Determine and state the coordinates of point A.

8
A design was constructed by using two rectangles ABDC and [image: image49.png]A'B'C Dy



.  Rectangle [image: image50.png]A'B'C Dy



 is the result of a translation of rectangle ABDC.  The table of translations is shown below.  Find the coordinates of points B and [image: image51.png]


.
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1
ANS:
3

[image: image53.png]



[image: image54.png]



REF:
011107ge

2
ANS:
2
REF:
011617ge

3
ANS:
1

[image: image55.png](xy)—=x+3y -4




REF:
060309a

4
ANS:
4

[image: image56.png]xy)—=x + 5y -4




REF:
010614a

5
ANS:
4

[image: image57.png]=+ 2y -6




REF:
080508b

6
ANS:
1

[image: image58.png](xy) = (x+3y+1)




REF:
fall0803ge

7
ANS:


[image: image59.png]A(D, 1)





REF:
081431ge

8
ANS:


[image: image60.png]B(-6,4), D'(-5,-4)



.  [image: image61.png](x. )= (x +Ly - 3




REF:
spring9823a

